BT T RtEE - Aok ( AFi44E5 518 BE, HEEFAD)
KAFH#X it 5 e gt &5 X NI 5B S &t
A% 1TH 1,045 1,170 1, 358 2,528 e AT 334 417 442 859
AKE2TH 698 904 939 1,843 KELHT 157 208 234 442
[ A BT 124 140 157 297 [ SEHT 154 225 229 454
ZHH / KHT 442 519 614 1,133 H BT 182 219 261 480
IR BT 597 676 852 1,528 /NPT 172 238 231 469
TSR N BT 480 637 732 1,369 ST 52 73 72 145
JKEHHT 185 202 235 437 X E 1,051 1, 380 1,469] 2,849
S EHT 80 122 145 267
HAM1TH 142 215 315 530 |25 3 Hh X JiRia o B s 3t
HAAM2TH 139 179 269 448 AT 167 210 249 459
AE—TH 964 989 1,155 2,144 JEHT 70 102 102 204
NE_TH 1,253 1,242 1,454 2,696 ‘=EACHET 142 173 193 366
PN 1,003 1, 065 1, 150 2,215 H T HT 109 133 236 369
—RET 813 862 951 1,813 aaheerull 104 115 91 206
= RET 249 230 288 518 HEACHT 70 83 102 185
75 = HRET 289 307 323 630 HXE 662 816 973 1,789
KEHT1TH 224 222 258 480
KERT 2 T H 422 398 500 898] |riasmX A 3 = Fin
BRHT 380 331 414 745 B/ TH 345 400 425 825
KHT 243 208 281 489 ‘BN TH 186 223 281 504
FEAHT 220 208 230 438 /N =T H 386 515 575 1, 090
SEMT 138 133 147 280 LT 336 514 380 894
Jr T 335 323 397 720 EOR—TH 1,199 1,493 1,592 3, 085
BE—TH 178 184 217 401 EOR _TH 1,781 2,128 2,276 4, 404
e _TH 834 979 1,107 2, 086 SEALET 760 1,102 1,123 2,225
e =T H 421 386 408 794 T RS T 360 474 522 996
HXE 11,898 12,831] 14,896] 27,727 RAEHT 533 679 749 1,428
/NS O ARHET 428 479 518 997
T AT X i 5 e i /B AT 607 602 639 1,241
T T 1, 764 1, 986 1,910 3, 896 IE{EL} 1,136 1, 248 1,481 2,729
AR BE HT 164 178 171 349 P RAA T 889 1,001 1,093 2,094
KA T 430 422 485 907 <) 1| BT 711 827 891 1,718
HFoHT 809 730 840 1,570 X E 9,657| 11,685| 12,545 24,230
mir—T1H 448 444 528 972
Al — T A 487 543 598 1,141 B X R 3 = i
i1 TH 270 268 315 583 {9 FH BT 478 626 688 1,314
P2 TH 497 559 605 1,164 FE T 172 204 207 411
i3 TH 322 345 384 729 B[R] AT 329 429 479 908
7K HH T 331 320 356 676 55 288 400 444 844
HET1TH 190 179 217 396 BF FH HT 49 62 72 134
HET 2 T H 282 272 345 617 SARSERT 48 68 63 131
H7 5 T 347 351 432 783 TR TEMT 70 92 107 199
LT 11 447 34 481 AT 22 24 32 56
P RA AT 401 426 503 929 fE AT 73 96 103 199
PSS 1 T H 285 304 333 637 XL 92 109 144 253
BESE2 TH 712 799 859 1,658 HXE 1, 621 2,110 2,339 4,449
a1 T H 305 316 346 662
ks 2 T H 281 283 313 596 FAJE Hh X NI 5B S &t
e 3 T H 631 590 671 1,261 s JEACHT 261 290 334 624
Hwei1TH 332 386 457 843 JEH—TH 152 173 187 360
w2 TH 592 642 654 1,296 WE_TH 97 121 153 274
HRE53 T H 357 378 444 822 WE=TH 39 52 69 121
ARGLHT 900 1,068 1,192 2, 260 B T 134 164 190 354
e o JEUET 14 15 20 35 R BT T 58 78 83 161
. A BT T 367 314 380 694 R T 36 49 55 104
WmE1TH 478 502 542 1, 044 HhX & 771 927 1, 071 1,998
WHE 2 TH 869 990 1,076 2, 066
Yz 1 HT 426 498 512 1,010
Hi X ] 13,302 14,555| 15,522| 30,077
=X ¥ 5 e gt
PH T 169 266 276 542 HiHE K ] + =1
ERIELN 198 276 314 590 ANHEE 40, 108| 45,749] 50,318 96,067
T [T 450 508 519 1,027
ARLHET 323 395 394 789
Hi X E 1, 140 1, 445 1,503 2,948
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